Spring 2007 | | Practice

. 'Write down your answers correétly in the boxes or spaces provided.

1. - Perform the indicated operations. Express your answer as a polynomial in simplified form.
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2. Factor completely: 4x* —y?*
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4. Let f(x)=2x*-x. Calculate f(x+h). Expand completely.
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- 5. Coinbiﬁe into a single fraction and simplify: -3 (2x+ I)
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6. [Express as a simple fraction:
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7. The area of a rectangle is 28 square centimeters and one side is 7 centimeters long. What is

the perimeter of the rectangle?
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8. Find the radius of a circle with area 107 square feet.
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10. Find all solutions (real or complex) of 3x? +4x+2=0.
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" 11. Solve the equation A = -;-b'hl-+ bh, for b, in terms of the other variables.

A-bhy = Lgni
- 2

- . , '
2% 2A-bhitbha | he Sha 2Abh

12. Graph y = 2—-4Jc1.> Clearly indicate the x- and y-intercepts.




14. Write (%6_) without using exponents or radicals.

15. Write (x2 )7 using a single positive exponent.
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16. Write x 2x™* using a single positive exponent.
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17. Find the value of 7°.

18. Find the value of log, 8.




19. Find tan@ using the given picture:

20. Sketch the graph of y =sint on [—7,7]. Clearly number the y-axis.
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71. Let 6 be an acute angle in a right triangle with the opposite leg having length 5 and the
hypotenuse having length 6. Find cos@. Give EXACT answer. o

cosf = \FIT




22. Whatis 6, in W the diagram below?
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23. Find the exact value of sin (5—:-) .
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24. Express in terms of sine and cosine: sinx - tanx - cscx. Simplify completely.
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25. Expand and 51mphfy 1+ (smt + cost‘)2 v
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